2 E; [GeV]

Ratio to UA1

10

0.5

900 GeV ppbar Soft QCD
L | | | | | | | | T T T | =
N Sum ET vs Nch(UA1, allp) N
L m UAl _|
| —&— Pythia 8.308 default B

Pythia 8.308 tune-1

Pythia 8.308 tune-2c¢
= Pythia 8.308 tune-2m =
: nA " .5 :

Rivet 3.1.10, = 2.7M events

o B N
r’:‘ H‘/E /AA
A —
m
o
m
I | Pras —
— u_ ]
L P —
- . Ae/ ]
. n / —
- 7, : _|
— | | | | | | | | | | | | rr
: T T T | T T T | T T T | :I
k/.""/‘A'_‘A‘—‘ R E s VR e e
*/: "

— ‘A\/)—\ ]
1 1 1 | 1 1 1 | 1 1 1 | 1

0 20 40 60

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


